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Order The Numbers >lacMI i)y

Order the following set of numbers ) ¥ Cra AN MacY) Ac gasa o)
from least to greatest: : aSY)
7 7
{3.—3,2.5,%,\/3} {3,—3,2.5,36,@}
7
3
O {z.5.3.¥6.5.vs}
7 3
O {5.2.5.V6.3.V5}
@ {3.2.5.v6.v5. 2}

O {%.@,%,2.5,3}



Solve the equation:

1 1
1_s=16

2 2
O s =11
O s == 33
_ 33
O s =3
@ s =6

Solve The Equation 1d) el J=>



The Decimal sl dasll

Write —12 as a decimal. S(GiAs 23 D) gua ga —13 as)
O —1.6
O —1.2
o -3



laws of Exponents juwl! ;uilgd

Simplify 2m(8m?®) using the Laws o) g aladiul 2m(8m®) b

of Exponents.

O 10mS
O 16m°
O 10m°®



Negative Exponents dJlull juw)l

Simplify (3a)(a™3). Bga bl N (3a)(a?) Jia
O 3a“
'S e



Square Root s )dl ja=Jl

— |23 i



Solve Multi-Step Equation ;uebsy OVoleall J>

Solve the equation: Adalaal) Ja
- 1 e —1-9_~
3%~ 1=9 S 3 - 67

O x — 12

O x — 60

O x = —12

O x — 10



> W

W

Find the slope of the line.

. adisal) B Jua ta



Equation in Point- gbidollg Juall crdiwoe dolao

slope
Write an equation in point-slope asliuall ladll dladig Juall Aoy Alalaa ais)
form for the line that passes 5 08 s (3,2) 0 s (s

through (3, 2) with a slope of 5.

v — 2 = S5(x + 3)

v — 2 = 5(x — 3)

Vv + 2 = 5(x — 3)

0 0 0 O



Laws of Exponents2 2wl uilgd

Slmpllfy( 2))5:33: using the Laws of o) Ouilg aladiadly (( 2;)5:::
Exponents.

@) (—2)® =< 3¢

o (—2)* < 37

@) (—2)* =< 3¢

O —(2)* < 32



0 0 0 O

Solve the equation:

—8(w — 6) = 32

Solve Equation 20\) o J>

radaleall Ja
—8(w—6) =32



System of Equations O\ sl oUAS

Solve the system of equations s O aleall allad Ja s gl
algebraically. y = x — 3
y =x — 3 y = 2x
y = 2x
O x = —3, 9y =—6
O x =3,y —6
O x = —3,y — 6



Solve the following system of il okl ) Y sleall ol

(2,1)
equations using the graph: gl
y=2+1 y=2u+1
s dla y=12x-13 y=21-3
. . Ty
There is no solution. )
i
y=%+1 3 ]
gl g gl 250 i \\J Al
There is an infinite number of solutions. =i-4-3-2 0| / 234 5K
rz
) S\
/ -fty= =3
(2,3) f I&




x=3.5y
y=7x

y=3.5x
y=2.5+x

dilusal) Mlaa) el b)) aags
GES) L aaly el NS ABS LS, A
Sy Al y clhaghdl) ssc slady dlalea

X PQ‘!’\ A i LE‘ Ay

¥ 20
18 | {5, 17.5)
T , .
i 16 I
14 (4, 14)
A A
d 10 .<.J](3, 10.5)
8
.3 5 (2, 7)
X : $=(, 35)
= x
x =
~ 0 123 45678 91

(pL¥L) o3



Function dJlJJI

S(x)=2x+1 813 f(—3) 2y



Scientific Notation (olsJl juo)il

Express “130 billion” in scientific alad) el la 1307 aaall e e
notation.
O 1.3 x 10'°
O 1.3 > 10°
O 1.3 x< 108

O 1.3 < 1011



The Slope and y-intercept lhaollg Juroll

State the slope and the y—intercept Jamasll y E,.H.L.H seaall aa alaldnlly Jaall 2da
for the graph of the equation .3x + Yy = —4 dlalaall ol
3x +y = —4.

The slope of the graph is —3, and the y—intercept is —4.

.3 say G_.,.....i,,.n ssaal) aa akaldilly 4 (Solew asBicuall Jia
The slope of the graph is 4, and the y—intercept is 3.

4 9A Y b)) 9aall aa akldnlly (3 (Selaw asfiawall Jua
The slope of the graph is 3, and the y—intercept is 4.

—4 sa Yy ) saall 2a alklEilly (3 (Slaw asiioal) Jua
The slope of the graph is 3, and the y—intercept is —4.



Linear Relationship dib=ll aslsll

A zoo charges a rental fee for due A LD La) Olsaa ddsaa (a0
strollers, plus AED 20 per hour. Aelu Ut AED 20 ) A3la) Jlaky)
The total cost for 5 hours .AED 130 2 Slelu 5 3 4.1s) 4
is AED 130. Assume the aal) daid sagl Ldudad ASMall o) xa38)
relationship is linear. Find the value I k|

of the rental fee.

AED 30

AED Z0

AED 110

0 0 0 O

AED 100



0 0 0 O

Direct Variation b, hbl| sl

A charter bus travels 210 miles in 2 Saa 210 Adlewal 5o ABla AL
3.5 hours. Assume the lgakad aiy Al Adlecall o a3 ALl 3.5
distance traveled is directly Adalaa oS L (3 adeal)l CE9l) e Lol aullins
proportional to the time spent. (Sl aaal)

Write a direct variation equation.

v + 60 x — 0O

a + 60 —

v — 60 x
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1234/5 ¥

win b odode L

The graph oLJl Julaadl

Yy = x — 5 3 Sl Jaianl saa




